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ELEMENTARY TRIGONOMETRY

Example

1. ABC is a right angle triangle where

angleC=90° . If AB=30 cm, BC =18 cm then find

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_nK3xmwPGtXjR


(a) sinA, (b) secA, (c) cos B (d) cosec B, (e)cotB,

(f) tanA

Watch Video Solution

2. ABC is a right angle triangle right angled at

C. If cosec A =  . Find the other

trigonometrical ratios.

Watch Video Solution

√5

https://dl.doubtnut.com/l/_nK3xmwPGtXjR
https://dl.doubtnut.com/l/_LV8egm2oD2we


3. A and P are two acute angles of two right

angled triangles ABC and PQR. If sinA=sinP,

prove that cot A= cot P

Watch Video Solution

4. A and P are two acute angles of two right

angled triangles ABC and PQR. If sinA=sinP,

prove that A=P

Watch Video Solution

https://dl.doubtnut.com/l/_ygYcG7cHRs1Q
https://dl.doubtnut.com/l/_xxujlggvxT2y
https://dl.doubtnut.com/l/_diX2DLXC3kn9


5. If a line drawn parallel to one side of an

acute angle triangle to intersect the other two

sides at two distinct points ,then using

trigonometric ratios prove that the other two

sides are divided in the same ratio.

Watch Video Solution

6. If in two acute angled triangles

corresponding angles are equal ,then using

trigonometric ratios prove that the

corresponding sides are in the same ratio.

https://dl.doubtnut.com/l/_diX2DLXC3kn9
https://dl.doubtnut.com/l/_kkEzpqA1Ogif


Watch Video Solution

7. In ABC,right-angled at B ,if tan A= 1/ ,

find the value of 

Watch Video Solution

△ √3

sin A cos C + cos A sin C

8. In triangle ABC,right-angled at B,if tanA=1/

,find the value of ,

cosAcosC-sinAsinC

√3

https://dl.doubtnut.com/l/_kkEzpqA1Ogif
https://dl.doubtnut.com/l/_20652edEXvMx
https://dl.doubtnut.com/l/_2xVmNqOomqPe


Watch Video Solution

9. If (tanA-tanB)=x and (cotB-cotA)=y ,then

cot(A-B)

Watch Video Solution

10. If tan A=  prove the following 


Watch Video Solution

5

2

3 tan2 A − 3 sec2 A + 4 = 1

https://dl.doubtnut.com/l/_2xVmNqOomqPe
https://dl.doubtnut.com/l/_P6hPNuzeOfJf
https://dl.doubtnut.com/l/_zuqP4PJQU35t
https://dl.doubtnut.com/l/_mT1hJgiDVCz6


Exercise

11. ABC is a right angle triangle right angled at

C. If AC =3 and AB:BC = 13:5, then find sinA and

tanB.

Watch Video Solution

12. ABC is a right angle triangle right angled at

C. If sin A =  find tanB.

Watch Video Solution

3

5

https://dl.doubtnut.com/l/_mT1hJgiDVCz6
https://dl.doubtnut.com/l/_4r6PTRTN3FLX


1. ABC is a right angled triangle where

. If AB=15 cm,BC= 8 cm then find sin

C.

Watch Video Solution

∠B = 90°

2. ABC is a right angled triangle where

. If AB=15 cm,BC= 8 cm then find tan

C .

Watch Video Solution

∠B = 90°

https://dl.doubtnut.com/l/_bJUQsbaE8syf
https://dl.doubtnut.com/l/_cXvU89Bqgt1M
https://dl.doubtnut.com/l/_8nMXUDV86Grb


3. ABC is a right angled triangle where

. If AB=15 cm,BC= 8 cm then find sec

C.

Watch Video Solution

∠B = 90°

4. ABC is a right angled triangle where

. If AB=15 cm,BC= 8 cm then find cos

A.

Watch Video Solution

∠B = 90°

https://dl.doubtnut.com/l/_8nMXUDV86Grb
https://dl.doubtnut.com/l/_q2yei76uXrts
https://dl.doubtnut.com/l/_vzlrmVfjnRy7


5. ABC is a right angled triangle where

. If AB=15 cm,BC= 8 cm then find

cosec A.

Watch Video Solution

∠B = 90°

6. ABC is a right angled triangle where

. If AB=15 cm,BC= 8 cm then find cot

A.

Watch Video Solution

∠B = 90°

https://dl.doubtnut.com/l/_vzlrmVfjnRy7
https://dl.doubtnut.com/l/_Crw1URpVDtkW


7. ABC is right angled triangle right angled at

C. if tan A = 5/12, find the other trigonometric

ratios.

Watch Video Solution

8. A and P are two acute angles of two right

angled triangle ABC and PQR. If cos A= cos P

proved that tan A = tan P

Watch Video Solution

https://dl.doubtnut.com/l/_LBIeqDXk7ZFv
https://dl.doubtnut.com/l/_YPR8QccF4StZ
https://dl.doubtnut.com/l/_l2ykzWByYj3i


9. A and P are two acute angles of two right

angled triangle ABC and PQR. If cos A= cos P

proved that A = P.

Watch Video Solution

10. Find .


.

sin θ

https://dl.doubtnut.com/l/_l2ykzWByYj3i
https://dl.doubtnut.com/l/_zuyTMa8wbRQf


Watch Video Solution

11. Find .


Watch Video Solution

tan θ

https://dl.doubtnut.com/l/_zuyTMa8wbRQf
https://dl.doubtnut.com/l/_uVCiZpPVlHMk


12. Find .


.

Watch Video Solution

sec θ

https://dl.doubtnut.com/l/_HUIUQ6k61drh


13. Find .


.

Watch Video Solution

cos2 θ − sin2 θ

https://dl.doubtnut.com/l/_e66vFISWemcN


14. Find .


.

Watch Video Solution

cot α

https://dl.doubtnut.com/l/_c1R7voiFrtsW


15. Find .


.

Watch Video Solution

cot2 α − cos2 α

https://dl.doubtnut.com/l/_cuvStef0ie5y


16. Find .


.

Watch Video Solution

sec2 θ −
1

cot2 θ

https://dl.doubtnut.com/l/_lZ9rMxrSWsUI


17. Find .


.

Watch Video Solution

cot2 θ − cot2 α

https://dl.doubtnut.com/l/_9kdzcPVkbFVI


18. Find .


.

Watch Video Solution

1(tan2 θ) −
1

sin2 θ

https://dl.doubtnut.com/l/_7YMFXxn9uVnU


19. Find .


.

Watch Video Solution

cot2 θ − sin2 α

https://dl.doubtnut.com/l/_FiwlrijkDGw3


20. Find .


.

Watch Video Solution

cot α

21. D is the mid point of BC show that

.
=
tan θ

tan ϕ

1

2

https://dl.doubtnut.com/l/_ccP22e54uiOl
https://dl.doubtnut.com/l/_JzRsMQmvlDVx


.

Watch Video Solution

22. If , find the value of 

.

Watch Video Solution

sin θ =
5

13

(cot θ + cos ecθ)

https://dl.doubtnut.com/l/_JzRsMQmvlDVx
https://dl.doubtnut.com/l/_cRgxeb2HoDnE


23. If , find the value of 

.

Watch Video Solution

cos θ =
4
5

(sec θ + tan θ)

24. If , find the value of 

.

Watch Video Solution

tan θ =
3

4

cos2 θ − sin2 θ

https://dl.doubtnut.com/l/_cRgxeb2HoDnE
https://dl.doubtnut.com/l/_CxF7a4Ws0wBv
https://dl.doubtnut.com/l/_NOT9kMBFgSaA


25. If , find the value of

.

Watch Video Solution

sec θ = 4

cos θ

4 cos2 θ + 3 sin2 θ

26. If , find the value of 

.

Watch Video Solution

4 tan θ = 3

4 sin θ − 3 cos θ

4 sin θ + 3 cos θ

https://dl.doubtnut.com/l/_u0RofcujsekK
https://dl.doubtnut.com/l/_ofsj3uefM0NI


27. lf , find the value of 

.

Watch Video Solution

5 cos θ = 7 sin θ

sin θ + cos θ

2 sin θ − 3 cos θ

28. If  prove that  is 

.

Watch Video Solution

tan θ =
a

b

2 sec θ + 1

cos θ + 2
√a2 + b2

b

https://dl.doubtnut.com/l/_TVPPOEcyRNoO
https://dl.doubtnut.com/l/_tkpdvbQcHZYZ


29. If , proved that 

is .

Watch Video Solution

tan θ =
p

q

p sin θ − q cos θ

p sin θ + q cos θ

p2 − q2

p2 + q2

30. If , proved that  is

1.

Watch Video Solution

tan θ =
3

4
sin2 θ + cos2 θ

https://dl.doubtnut.com/l/_lkVOWLTbcha5
https://dl.doubtnut.com/l/_STdXAlqCCVUq


31. If ,prove that 

.
.

Watch Video Solution

tan θ = (√2) − 1

sin θ cos θ =
1

2

32. In a right angled triangle ABC, right angled

at B find  if BC= 80 cm, AC - AB =2

cm.

Watch Video Solution

cos A − sin A

https://dl.doubtnut.com/l/_ThpTmlOpvYx5
https://dl.doubtnut.com/l/_FPb3i2tLOj1j


33. In a right angled triangle ABC, right angled

at B find  if BC= 20 cm, AC - AB

=10 cm.

Watch Video Solution

cos A − sin A

34. In a right angled triangle ABC, right angled

at B find  if BC= 9 cm, 

AC - AB =1 cm.

Watch Video Solution

cos A − sin A

https://dl.doubtnut.com/l/_UNXIjUUnibhO
https://dl.doubtnut.com/l/_EOXtdEgo4aQr
https://dl.doubtnut.com/l/_Zo8rOPp11W0E


35. In an isosceles triangle ABC if AB = AC= 10

cm and BC =12 cm, find the values of

 and .

Watch Video Solution

tan∠ACB cos ec∠ACB

36. In an isosceles triangle ABC if AB = AC= 15

cm and BC =18 cm, find the values of

 and .

Watch Video Solution

cos∠ABC sin∠ABC

https://dl.doubtnut.com/l/_Zo8rOPp11W0E
https://dl.doubtnut.com/l/_aH5Q68hXxIOY
https://dl.doubtnut.com/l/_ojgNrg4Dyk7T


37. In   if AB = 40 cm and

AC + BC =50 cm, find .

Watch Video Solution

△ ABC ∠B = 90°

sin A

38. In   if AB = 40 cm and

AC + BC =50 cm, find .

Watch Video Solution

△ ABC ∠B = 90°

tan A

39. In   if AB = 7 cm and BC -

AC = 1 cm, find .

△ ABC ∠A = 90°

cos C

https://dl.doubtnut.com/l/_ojgNrg4Dyk7T
https://dl.doubtnut.com/l/_czvBcS7Wqpz6
https://dl.doubtnut.com/l/_cdZliENXeJDT


Watch Video Solution

40. In   if AB = 7 cm and BC

- AC = 1 cm, find .

Watch Video Solution

△ ABC ∠A = 90°

cot B

41. The diagonals AC, BD of rhombus ABCD

meet at O. If AC = 6 cm and BD =8 cm find

, .

Watch Video Solution

sin∠OCD cos∠OCB

https://dl.doubtnut.com/l/_cdZliENXeJDT
https://dl.doubtnut.com/l/_gSlCfOCr1LDx
https://dl.doubtnut.com/l/_gfII7chTEzFp


42. E is the mid point of the side AB of the

square ABCD, if  then find the

value of  and .

Watch Video Solution

∠AED = θ

cos θ sin θ

43. AOB is diameter of a circle whose centre is

O and C is any point on the circle. Join A and C

, B and C and O and C. Show that

.

Watch Video Solution

(sin2∠BCO + sin2∠ACO) = 1

https://dl.doubtnut.com/l/_gfII7chTEzFp
https://dl.doubtnut.com/l/_HPfIXNjnQmAj
https://dl.doubtnut.com/l/_qpqg0QY2JU0h


https://dl.doubtnut.com/l/_qpqg0QY2JU0h

